
GRISEL ( wee .

Novel )

Let M be these

M={ ( x
,y ,

⇒ e 11231×2+-12=2-2+13

I) Show that M is a manifold ( use the regular
value theorem for the function f ( x ,y,z)=  x2+y2 - El - l ) .

What does M look like ?

ii ) let

U=M\{
lot ,z)IzaR}

X

¢ a
:lU→R2

be gwa by Qlxihz) =Iffy ,⇒

Similarly
,

letV=M\{( o
,

- FE ,zHzeR}
×

4:V→R2be given by 4(x,yz)=( Tie ,Z )

Compute the transition maps 604
"

¢ Hoyt
.

Show that ( U
,
9) 4 ( V. 4) are compatible

.

i ; ;) Let 8 : R→M be defined in local coordinates

by

4°8(t)=fd#t
,£) for t¢{ Iztzkitlkek }

1 - sink )

Y.8lttf@sfYy.t

) for # { Ietzkitlkek }



Show that V :R→M is smooth

;D Let i :M→R3 be tendon

i ( x ,y,z) = lx ;hz)

Compote io 8 : R→R ? What does it look like ?


